GOVERNMENT OF ODISHA



PANCHAYAT SAMITI DABUGAM

DETAILED TENDER CALL NOTICE

FOR THE WORK CONST. OF LABOUR ROOM AT MEDENA PHC OF MEDENA GP.

OFFICE OF THE PANCHAYAT SAMITI, DABUGAM,ODISHA,764072



OFFICE OF THE PANCHAYAT SAMITI, DABUGAM DISTRICT –NABARANGPUR(ODISHA)

At/Po-Dabugam Pin-764072

E-mail: ori-dabugaon@nic.in

No. 382 /2021

Date-04/02/2021

TENDER CALL NOTICE NO 03/2020-21

1. The Block Development officer, Dabugam on behalf of the Panchayat Samiti Dabugam invites sealed Tenders in Conformity with detailed tender call notice to be drawn up in state P.W.D,P-2 contract from the eligible registered contractors of state P.W.D/Irrigation/R.W/R.W.S.S and P.H.E.D having valid license from competent authority for Civil Works. The proof of registration from appropriate authority shall be enclosed along with the Bid. If successful, the bidder who has not registered under State Government, Odisha has to register under the state PWD in appropriate call for eligibility before signing of the agreement.

2. The bidders may submit bids for the following work:-

SI No.	Name of work	Amount put to tender)	Period of completi	Class of Contractor	Cost of Tender Paper (Non Refundable)	Security(E.M. D to be deposited 1% in Rs)
1	2	3	4	5	6	7
01.	Construction of Labour Room at Medna PHC of Medana GP.	2602629/-	6 (Six calendar months)	'C' or 'B'	6000.00	26026/-

TERMS AND CONDITION:

- 1. SALE / RECEIPT / OPENING OF THE TENDER PAPER.
- (A) <u>Date of selling Tender Paper</u> : <u>05/02/2021 to15/02/2021</u> (Tender paper to be downloaded from official website <u>www.nabarangpur.nic.in</u>) during the Office hour.
- (B) <u>Last Date of receipt Tender paper</u> : 17/02/2021 Up to 5.30 (During Office hour through Registered Post/Speed Post Only)
- (C) <u>Date of opening Tender paper</u> : 18/02/2021 (Time 11.00 AM onwards) at Office Chamber of Block Development Officer , Dabugam

The tender documents can be downloaded from Official website (www.nabarangpur.nic.in) & the Cost of tender bid document (Non-refundable) shall be deposited at the time of receipt of the tender document in shape of Bank Draft/ Bankers Cheque in favour of Block Development Officer, Dabugaon (Bank Draft or Bankers Cheque must be issued on or before 15/02/2021 as indicated in column No-6.

- Earnest Money Deposit: Tenderer must accompany with 1 % EMD as mentioned above in column 7 in shape of BD/BC/NSC /KVP / STDR / TDR/ BD/BC duly pledged in favour of Block Development Officer, Dabugam payable at SBI Dabugam .The tender papers without required amount of E.M.D will not be considered and transfer or adjustment of E.M.D is inadmissible.
- 3. <u>Document to be attached</u>:- The following documents should be furnished with the tender paper failing which tender will be liable to rejection, (A) Attested copy of valid contractor Licence Certificate, (B), Attested copies of valid and up to dated GSTIN clearance certificate (C) Attested copy of PAN Card, (D) No relation Certificate, (E) Attested copy of valid Certificate issued by competent Authorities in case of S.C. S.T.& physically Handicapped, (F) Experience certificate (Optional), (G) IT Returns last 3 years, (H) Self Declaration (Not black listed by any govt. agency, (I) Affidavit as regards the fact of availing award of work without submission of E.M.D. / I.S.D. during the current financial year in case of Engineer Contractors desirous of availing exemption of E.M.D. to be furnished from competent authority, (J) Affidavit of validation and authenticates of Tender documents.
- 4. Abnormal Bids: If any of the bidder quotes more than 14.99 % of the tendered amount, then such a bid shall be rejected and the tender shall be finalized basing on merit of the rest bids and the

(Signature of the Contractor)

(Signature of BDQ, Dabugam)

- provision laid down in Clause No. 36 of Memorandum No. 12366 dated 08.11.2013 of works departments, Govt, of Odisha will be followed.
- Tenderers are requested to quote their rate both in words and figures. The Tenderers are required to put their signature on every over writing or any correction made in the tendered rate. The tender filled in figure only but without mentioning in words shall be liable for rejection for which no tender paper cost shall be returned to the tenderers.
- The Tender schedule along with unit rate of item should dully filled in and all relevant papers in sealed cover will be received through Registered post / Speed post only by the undersigned up to 5.30 PM on date.17 /02/2021 and it will be opened in the Office of the Panchayat Samiti, Dabugam at 11.00 AM on dated. 18/02/2021 by the undersigned in presence of the tenderers or their authorized representatives who may be present at the time of opening. The bidder must superscribed the name of the project in the top of the sealed cover.
- 7 <u>Telegraphic tender will not be accepted</u>. The undersigned will not be held responsible for the postal delay if any for the delivery of the documents or non-receipt of the same in time. However no tender will be received by Fax or by E-mail.
- 8. Scheduled Cast and Scheduled Tribe and physically handicapped tenderers will deposit EMD as 50% of the amount put to tender and they will produce Caste Certificate & Physically Handicapped Certificate at the time of purchasing tender papers
- 9. In case of Engineering contractors seeking exemption of EMD of the work, are instructed to produce an affidavit regarding his / her list of works for which he / she has claimed such exemption and being avoided such works, during current financial year- 2020-21.
- After opening the tender document the item percentage bid shall be multiplied by estimated quantity of work and the tabulated total abstract value so arrived shall be considered for finalization of tender.
- 11. Where the tabulated total abstract value offered in a bid works out to an amount, which is 15% less than the approximate value of work, then the bid document shall be rejected.
- Additional performance security Deposit Where the tabulated total abstract value offered by a bidder works out to 0.01% to 14.99% less than the approximate value of work, then the bidder has to quote the exact amount of differential cost (i.e. estimated cost put to tender minus the quoted amount) as additional performance security in shape BD / BC / NSC / KVP / STDR / TDR duly pledged in favour of Block Development Officer, payable at SBI Dabugam along with tender document at the time of receipt of tender document.
- 13. If L1 bidder does not turn up for agreement after finalization of the tender, then he shall be debarred from participation in bidding for three years and action shall be taken to blacklist the contractor. In that case, the L2 bidder, if fulfils, other required criteria would be called for drawing agreement for execution of work subject to the conditions that L2 bidder negotiates at par with the rate quoted by the L1 bidder otherwise the tender will be cancelled. In case a contractor is black listed, it will be widely published and intimated to all departments of Government and also to Govt. of India agencies working in the state.
- 14. If the tabulated abstract value of two or more bid is equal, then the tender will be finalized on the basis of lottery drawn in presence of such bidders.
- 15. <u>Forfeiture:</u> The E.M.D amount will be forfeited, if tenderer backs out from the offer of acceptance of tender, by the competent authority.
- 16. Submission of more than one tender paper by a bidder for a single work will be liable for rejection of all such tender papers.
- 17. The authority reserves the right to reject any or all the tenderers without assigning any reason thereof.

Block Development Officer

(Signature of DO, Dabugam)

(Signature of the Contractor)

Memo No 389/2021

Dated. 64 /02/2021

Copy to the Collector, Nabarangpur / Project Director DRDA, Nabarangpur/

Superintendent of Police Nabarangpur for kind information & necessary action

Block Development Office

Pulan Dabugam.

Memo No. 34 /2021

Dated. Q.L./02/2021

Copy to D.I.P.R.O., Nabarangpur for kind information and necessary action. He is requested to publish the same in the daily one leading news paper for wide publication.

Memo No. 385 /2021

Warm Dabugam Dated. .. Q. U .. /02/2021

Copy to District Informatics Officer, Nabarangpur for information for wide publication in the District Office web site from 05.02.2021 to 15.02.2021 after that he is requested to delete the same from the web site. He shall confirm through a written reply.

Block Development Office

Auth Dabugam

Memo No. 386 /2021

Dated. C.L.

Copy forwarded to the Addl. P.D. (Technical), D.R.D.A., Nabarangpur for kind information. He is requested to attend the office of the undersigned on dt 18 .02.2021at 11.00 A.M. to participate in the tender opening for verification and scrutiny.

> Block Development Dabugain

Memo No. 287 /2021

Dated. D.4./02/2021

Copy to Inspector In Charge, Dabugam Police Station for information and necessary action. He is requested that the Police protection may be provided at the Office of the Block Development Officer, Dabugam during opening day on dated 18 .02.2021 (as scheduled) to avoid miscreants.

> Block Development Dabugato

Memo No. 288 /2021 Dated. Q.M../02/2021

Copy to the Asst. Engineer & Jr. Engineer of NHM, Nabarangpur for kind information. He/ She is requested to attend the office of the undersigned on dt 18.02.2021.at 11.00 A.M. to participate in the tender opening for verification and scrutiny.

Copy to All B.D.Os / All Tahasildars / All C.D.P.Os in the District /E.O., Municipality , Nabarangpur / Umerkote for information & wide publication.

> Block Developmen Dabugan

Dated. 02/2021

/2021

Copy to the notice board of this office for wide publication.

Copy to the Asst. Engineer/Section Officer / All Jr. Engineer& cashier of Dabugam Block for

information.

Memo No.

(Signature of the Contractor)

(Signature o

TENDER SCHEDULE

Name of the Work CONSTRUCTION OF LABOUR ROOM AT PHC, MEDNA OF MEDNA G.P.

Estimated Cost Rs. 3,100,000.00

Amount put to Tender Rs. 2602629.00 (Excluding G S T) Last Date of sale of tender paper 15.02.2021

E.M.D. Required 1% of Bid Amount Last Date of Receipt of tender paper 17.02.2021

Cost of Tender paper Rs. 6000.00 Date of Opening of Tender paper 18.02.2021

Class of Contractor B' & 'C' Class Time of completion :- 6 (Six) Calender months

Supplying and filling in foundation trenches and plinth, ditches with sand well watered and rammed in layers not exceeding 23 cm. in depth with all lead and lift including cost, conveyance, loading, unloading, royalties and taxes of all materials, cost of all labour, sundries, T&P required for the work etc. complete in all respect as per direction by the Engineer in charge. Providing and laying Cement concrete (1:3:6) in foundation and floors using 4 cm. size black hard crusher broken granite stone metal and screened and washed sharp sand for mortar of approved quality and from approved quarry including hoisting lowering laying.	SI No.	Description of works	Quantity	Unit	Rate	Amount
soil including dressing of sides and levelling the bed up to the required depth and depositing the excavated materials away from the work site within 50m initial lead & 1.5m initial lifts with sundries & T&P required for the work complete as directed by the Engineer in charge. Supplying and filling in foundation trenches and plinth, ditches with sand well watered and rammed in layers not exceeding 23 cm. in depth with all lead and lift including cost, conveyance, loading, unloading, royalties and taxes of all materials, cost of all labour, sundries, T&P required for the work etc. complete in all respect as per direction by the Engineer in charge. Providing and laying Cement concrete (1:3:6) in foundation and floors using 4 cm. size black hard crusher broken granite stone metal and screened and washed sharp sand for mortar of approved quality and from approved quarry including hoisting, lowering, laying concrete, ramming, watering and curing etc. complete to required levels laid in layers not exceeding 15 cm. thick in each layer including cost, conveyance, royalties, taxes of	1	2	3	4	5	6
ditches with sand well watered and rammed in layers not exceeding 23 cm. in depth with all lead and lift including cost, conveyance, loading, unloading, royalties and taxes of all materials, cost of all labour, sundries, T&P required for the work etc. complete in all respect as per direction by the Engineer in charge. Providing and laying Cement concrete (1:3:6) in foundation and floors using 4 cm. size black hard crusher broken granite stone metal and screened and washed sharp sand for mortar of approved quality and from approved quarry including hoisting, lowering, laying concrete, ramming, watering and curing etc. complete to required levels laid in layers not exceeding 15 cm. thick in each layer including cost, conveyance, royalties, taxes of	1	soil including dressing of sides and levelling the bed up to the required depth and depositing the excavated materials away from the work site within 50m initial lead & 1.5m initial lifts with sundries & T&P required for the	101.85	100101010	182.772	18615.33
foundation and floors using 4 cm. size black hard crusher broken granite stone metal and screened and washed sharp sand for mortar of approved quality and from approved quarry including hoisting, lowering, laying concrete, ramming, watering and curing etc. complete to required levels laid in layers not exceeding 15 cm. thick in each layer including cost, conveyance, royalties, taxes of	2	ditches with sand well watered and rammed in layers not exceeding 23 cm. in depth with all lead and lift including cost, conveyance, loading, unloading, royalties and taxes of all materials, cost of all labour, sundries, T&P required for the work etc. complete in all respect as per direction	66.50		419.07	27868.16
	3	foundation and floors using 4 cm. size black hard crusher broken granite stone metal and screened and washed sharp sand for mortar of approved quality and from approved quarry including hoisting, lowering, laying concrete, ramming, watering and curing etc. complete to required levels laid in layers not exceeding 15 cm. thick in each layer including cost, conveyance, royalties, taxes of all materials and cost of all labours, T&P etc complete as	51.43	1000000	4644.42	238862.5
per the direction of the Engineer -in -charge.	3	concrete, ramming, watering and curing etc. complete to required levels laid in layers not exceeding 15 cm. thick in each layer including cost, conveyance, royalties, taxes of all materials and cost of all labours, T&P etc complete as	51.43	1000000	4644.42	2

(Signature of the Contractor)

(Signature of BDO, Dabugan)

77				TOLK	
4	R.C.C. work with M-20 grade In Different Works having minimum compressive strength in work test of 200 Kg/Cm2 at 28 days using 20 mm and down graded size black hard crusher broken granite stone chips of approved quality and from approved quarry including holsting lowering and laying concrete and compacting by using vibrators watering, curing for 28 days, centring & shuttering and finishing the exposed surface smooth providing grooves or beads where necessary in all floors including cost, conveyance, royalties and taxes of all materials, cost of all labour with cost of all T&P required for the work etc. complete in all respect but excluding cost and conveyance of M.S. rods or steel & binding wires and labour charges for strengthening, cutting, bending grills and placing in proper position.				
4.1	Column Base	18.55	One Cum	5075.65	94153.31
4.2	Plinth Beam	10.2	One Cum	5075.65	51771.63
4.3	Column	8.86	One Cum	5075.65	44970.26
4.4	Column	0.74	One Cum	5075.65	3755.98
4.5	Lintel	2.94	One Cum	5075.65	14922.41
4.6	Chajja	0.56	One Cum	5075.65	2842.36
4.7	Roof Beam	11.77	One Cum	5075.65	59740.4
4.8	stair case	1.95	One Cum	5075.65	9897.52
4.9	Roof slab	20.25	One Cum	5075.65	102781.91
4.10	Roof Slab (1St Floor)	1.04	One Cum	6134.09	6379.46
5	Straightening cutting, bending bent up or coiled rods, including cranking, hooking, welding or jointing the M.S. rods or tor confirming to I.S. 432 (Plain) and 1785 (Tor) steel and binding, tying the grills, hoisting, lowering and placing in proper position required for R.C.C. works including cost, conveyance and taxes of M.S. rods or tor steel and binding wires of 18 to 20 gauge and cost of all labour with all T&P required for the work etc. complete as directed by the Engineer- in-Charge.	64.64	One Qntl	8589.00	555192.96
			10.11-1	THE PARTY OF THE P	THE STATE

(Signature of BDO Dabugam)

5.1	First Floor	1.68	One Qntl	9187.67	15435.28
6	Fly Ash Brick (23x11x8cm) size having crushing strength not less than 75kg/ cm2 with cement mortar (1:6) in Superstructure per cum as directed by the Engineer-incharge.	31.84	One Cum	4280.05	136276.79
6.1	First Floor	6.09	One Cum	4503.532	27426.51
7	Providing 16 mm thick cement plaster with cement mortar of mix (1:6) with screened and washed sharp sand for mortar and finished smooth to the rough surface of walls in all heights after racking out joints including watering and curing, rounding of corners, providing grooves where ever necessary with cost, conveyance, royalties and taxes of all materials with cost of all labour, T&P, and scaffolding required for the work etc. complete in all respect as directed by the Engineer in charge.	533.314	One Sqm	197.23	105185.52
7.1	First Floor	27.75	One Sqm	217.87	6045.89
8	Providing 12 mm thick cement plaster with cement mortar of mix (1:6) with screened and washed sharp sand for mortar and finished smooth to the rough surface of walls in all heights after racking out joints including watering and curing, rounding of corners, providing grooves where ever necessary with cost, conveyance, royalties and taxes of all materials with cost of all labour, T&P, and	209.57	One Sqm	131.52	27562.65
	scaffolding required for the work etc. complete in all respect as directed by the Engineer in charge.				1020, 201
8.1	First Floor	87.99	One Sqm	144.498	12714.38
9	Supplying, fitting, fixing of Homogeneous tile in floors marbonite or equivalent make in all floors using Vetrified tile over 25mm thick bed of cement mortar (1:1) jointed with neat cement slurry mixed with pigment to match the shades of the tiles including cost, conveyance and taxes of all materials, cost of all labour, T&P etc. complete as per the direction of the Engineer-in-charge.	129.84	One Sqm	903.392	117296.4

(Signature of BDO Dabugam)

A STATE OF THE PARTY OF					并 计规则 []
10	Providing fitting &fixing of Ceramic tiles in dado including cost, conveyance etc complete. Including cost, conveyance and taxes of all materials, cost of all labour, T&P etc. complete as per the direction of the Engineer-in-charge.	205.94	One Sqm	689.572	142010.46
11	Providing fitting &fixing of vetrified tiles in floor including cost, conveyance etc complete.(Industrial)	34.08	One Sqm	903.392	30787.6
	Providing and fixing of Fixed Ventilators of approved make to be fabricated from roll formed sections made of pre-painted steel (base steel as per IS-513 of 0.6 mm thick "D" quality, galvanized as per IS-277 with zinc of 120 Gm/Sq.mtr) with paint specification being with primer of 5-7 microns and finished paint with polyster paint (Black /Pearl white/ Chocolate Brown) of 12-16 microns alongwith the alkyd backer at the back of 5-7 microns and the sizes of outer frame being of 46x52 mm and with all vertical and horizontal mullions are of				
12	46x70 mm and fixed beadings are of 18x25 mm. Accessories / gaskets are to be used as per the manufacturer's supply and specification like handle being made of high grade aluminium powder coated and with nylon receiver and gasket will be made of EPDM. All corner brackets are to be made of CRCA with zinc		Control of the contro		tainalu
	phosphating. The mullion caps and louvered-clips should be of glass filled nylon. The sections are to be cut to length ,mitre joined with corner bracket and frames are fixed to the concrete/masonry walls by means of self expanding screws and glass to be used of 5 mm reflective with cost, conveyance and taxes of all materials, cost of all labour, T&P etc. complete as per the direction of the Engineer-incharge.	1.08	one Sqm	1000	1080
13	Providing, fitting & fixing of Al. door with OEL anodized Al. door section of 9202 aas vertical member, 9201 as top member and 9200 as bottom and middle member and 6mm dotted glass in top portion with 12mm thick prelaminated board in botttom portion fixed on door frame by means of tapered clip No.4660 and frame to be completed bt means of jointing angle No.1855 including all cost of labour T & P hire charges of drilling machine labour charges etc complete.	18.1	One Sqm	6858.59	124140.48

(Signature of BDO, Dabugam)

					1 1986
14	Supplying, fitting & fixing of window (sliding type made up alminum section with alluminium jally & mosquito net) 151-154,151-155, as windows frame section No.151-155, 151-153 nad 151-167 as shutter framw with 5mm thick dotted glass as panel fitted with rubber beading including locking arrangement including all fitting including cost of materials all taxes labour T & P etc complete as per direction of Enginner -in charge.	11.88	One Sqm	5656.24	67196.13
15	Supplying of M.S. Grills, M.S.Doors, M.S. Gate etc including cost, conveyance of all materials etc. complete as per the instruction of Engineer-in-Charge .	496.5	Per Kg	130	64545
16	Painting two coats with approved weather coats of approved colour, shade on wall surface over a coat of wall primer including sand papering, polishing the surface, cost, conveyances, taxes of all materials and cost of all labour with T&P etc, complete as per specification & direction of Engineer-in-charge.	209.57	One Sqm	133.58	27,993.52
16.1	First Floor	87.99	One Sqm	135.034	11881.64
17	Finishing plastered surfaces of walls with cement putty (water based) of approved make and finishing the surface smooth and even by sand papering to receive paint in walls, at all heights with staging wherever necessary with cost, conveyance, taxes of all materials, cost of all labour, all T&P etc. required for the work complete in all respect as per the direction of the Engineer-in-charge.	384.992	One Sqm	114.816	44203.24
17.1	First Floor	27.99	One Sqm	126.0528	3528.22
18	Distempering two coats to walls with distemper of approved shade on new work including cost, conveyance, taxes of all materials, cost of all labour, T&P etc. complete as per the direction of the Engineer-in-charge.	462.11	One Sqm	63.9045	29530.91
18.1	First Floor	27.99	One Sqm	76.7781	2149.02
19	Painting two coats to new Iron work with approved enamel paints of approved colour, shade over a coat of primer including sand papering, polishing the surface, cost, conveyances, taxes of all materials and cost of all labour with T&P etc, complete as per specification & direction of Engineer-in-charge.	14.04	One Sqm	82.49	1158.16

(Signature of BDO Dabugam)

e digues					建一种种种种种种种种种种种种种种种种种种种种种种种种种种种种种种种种种种种种
20	Supplying fitting and fixing of stainless steel of 304 grade in hand railing using 50mm dia of 2mm thick circular pipe with Balustrade of size 32mm x 32mm x 2mm @ 0.90 Mtr. Center to Center and stainless square pipe bracing of size 32mm x 32mm x 2mm in 3rows in stair case as per approved design and specification, buffing, polishing etc with cost, conveyance, taxes of all materials labour, T & P etc required for the work complete in all respect as directed by the Engineer in charge.	9	R Mtr	3396.99	30572.91
21	Providing 2.5cm thick Grading Concrete over roof slab with cement concrete (1:2:2) using 6mm size black hard granite crusher broken chips and screened & washed sharp sand for mortar and finished smooth to the rough surface of slab including watering and curing with cost, conveyance, royalties and taxes of all materials with cost of all labour, and T&P required for the work etc. complete in all respect as directed by the Engineer in charge.	202.49	One Sqm	298.03	60348.09
21.1	First Floor	10.38	Sqm	321.53	3337.48
22	Rigid and smooth centering and shuttering for RCC works				1
22.1	For RCC column base:-	27.825	Sqm	101.78	2832.03
22.2	For RCC grade beam:-	51	Sqm	101.78	5190.78
22.3	For RCC Lintel:-	41.16	Sqm	275.99	11359.75
22.4	For RCC Chajja:-	0.616	Sqm	439.02	270.44
22.5	For RCC Columns:-	96	Sqm	733.68	70433.28
22.6	For RCC Beams:-	117.7	Sqm	733.68	86354.14
22.7	For RCC Roof slab:-	232.4	Sqm	439.02	102028.25
	TO RESTREE		L	Total	2602629.2
				Say Rs	2602629.00

Rupees (Twenty Six Lakh Two Thousand Six Hundred twenty Nine) Only
Approved for 22(Twenty Two) items Only

My / Our quoted rate is	% less than / equal to and
write in figure	
% to the above tender Cos	t.

(1) The Contractor should not write anything except quoting of percentage and in . case anything else regarding tender rate is mentioned , the tender is liable for rejection .

(2) Strike out which are not applicable.

Signature of Contractor

(Signature of the Contractor)

9

(Signature of BDO, Dalugan

Page 11 of 14

CHECK LIST TO BE ENSURED BY THE BIDDER

NAME OF THE WORK; CONSTRUCTION OF LABOUR ROOM AT MEDANA PHC OF MEDANA G.P.

Si.	Particular	Whethe	r Furnished	Remarks
No		Yes	No	
1	Cost of tender paper in shape of Bank Draft / B.C. only (any other shape will not be entertained)			
2	Earnest money deposited in shape of of Bank Draft / B.C. only (any other shape will not be entertained)			
3	Attested Copy of valid Contractor Licence Certificate			
4	Attested Copy of valid up to-date GSTIN clearance certificate			
5	Attested Copy of Pan Card			
6	No relation Certificate		2 1 1	
7	Attested Copy of Category of tenderer (S.C./ST/ Engineering Contractor/General) With certificates			ore, see . I
8	Attested Copy of Certificate (S.C./S.T./Physically Handicapped)		, , , , , ,	
9	Work experience Certificates (Similar nature of work) Optional			
10	Self Declaration(Not black listed by any Govt. Agency)			
11	I.T returns of last 3 Years			
12	Affidavit as regard the fact of availing award of work without submission of EMD/ISD during the current financial year in case of Engineer Contractors desirous of availing exemption of EMD		(Caple 1	
13	Affidavit / Declaration Certificate			Estate 1

(Signature of the Contractor)

(Signature of BDO, Dabasan)

Page 12 of 14

TENDER FOR WORK

I Sri/Smt... age about...

years S/O.D/O.H.O. vill P.S here by tender for the execution for the Panchayat Samiti, Dabugam of the work specified in the underwritten memorandum at the rates specified therein a period of months/years from the date of written work order to commence and in accordance in all respects with the specifications designs drawings and other documents referred thereof and subject to the annexed conditions of contract in accordance with such conditions so far as applicable.

MEMORANDUM

(A)Name of the work :-Const. of Labour Room at Medena PHC of Medena G.P

(B) Name of the G.P :- Medena

(C) Name of the Scheme :- PIP Grant-2020-21

(D)Estimate Cost :- Rs.3100000/-

(E) Approximate cost put to tender :- Rs. 2602629/-

(F) Earnest Money to be Deposited(EMD)

0.01% OF Estimate Cost :- Rs. 26026/-

(G) Cost of Tender Paper :- Rs. 6000/-

(H) Class of Contractor :- B & C Class

(I) Percentage to deduct from Bills :- Three percent (3%)

(This Percentage Deduction from bills of the contractor:-

will be credited to the security deposit (S.D) of the contractor)

(J) Percentage to be deducted from Bills as IT (TDS):- Two percent (2%)

(K) Time required for the work from the date of return order to commence: - 06(Six) Calendar months

(Signature of the Contractor)

(Signature of BDO, Dabugam)

Page 13 of 14

My quoted rate is% (......percent) (both in figures and words less than / equal to the above estimated cost put to Tender. Should this Tender the accepted, I/We hereby agreed to abide by and fulfill all the terms and provisions of the said conditions of contract annexed here to so far as applicable, or in default thereof to money mentioned in the said conditions.

Signature of Contractor before submission of Tender.

Witness:

Address:

Occupation:

(Signature of whiteness to one tenders signature)

THE ABOVE TENDER IS ACCEPTED BY ME ON BEHALF OF PANCHYAT SAMIT DABUGAM

Dated.___ /___/2021

Block Development officer, Dabugam

(Signature of the Contractor)

(Signature of BDO, Dabugam)

Page 14 of 14

CERTIFICATE OF NO RELATIONSHIP

I/We here by certified that I/we/am/are related/not related (*) to any officer of Panchyat Samiti Dabugam of the rank of Asst. Engineer and above and any officer of the rank of Asstant/Under Secretary and above of the ST & SC Development department Government of Odisha I/we/am/are aware that. If the facts subsequently proved to be false, my/ our contract will be rescinded with forfeiture of E.M.D, and security deposit and I/We shall be liable to make good the loss or damage resulting from such cancellation.

I/We also note that, non-submission of this certificate will render my/our tender liable for rejection.

(*) Strike out which is not applicable

(Signature of the Tenderer)

Date

INFORMATION REGARDING CURRENT LITIGATION, DEBARRING, EXPELLENG OF TENDERER OR

ABONDONMENT OF WORK BY THE TENDERER

- 1.(a) Is the Tenderer currently involved in any litigation relating to the works:- Yes/NO
- (b) If yes give details:
- 2.(a) Has the Tenderer or any of its constituent

Partners been debarred/ expelled by any agency in India during the last five years:- Yes/ No

3.(a) Has the tendered or any of its constituent

Partners filed to perform on any contract work in India during the last five years:- Yes/ No

(b) If yes give details:-

Note:- If any information on the schedule is found to be incorrect of cancelled, qualification application will summarily be rejected.

(Signature of the Tenderer)

AFFIDAVIT

- 1. The undersigned do herby certify that all the statement made in the required attachments are true and correct.
- its constituent partners have abandoned any road/bridge/Irrigation/ Buildings or other project work in India nor any contract awarded to us for such work have been rescinded during the last five year prior to the date of the bid.
- 3. The undersigned hereby authorized and request any Bank, person, Firm or Corporation to furnish pertinent. Information as deemed necessary and as requested by the Department to verify this statement or regarding my competency and general reputation.
- 4. The undersigned understands and adheres that further qualifying information may be requested and agree to furnish any such information at the request of the department.

(Signature of Tenderer)

Title of Officer: Name of Firm:-Date.

(Signature of the Contractor)

(Signature of BD